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QUESTION 1

Which option governs the order in which the search rules query the local zone versus neighbored Expressways? 

A. priority number 

B. call processing order 

C. call policy 

D. target zone 

Correct Answer: D 

 

QUESTION 2

Which three options are for deploying Cisco Collaboration Meeting Rooms products? (Choose three.) 

A. CMR Premises 

B. CMR Live 

C. CMR Hybrid 

D. CMR Cloud 

E. CMR Virtual 

F. CMR Security 

Correct Answer: ACD 

 

QUESTION 3

What is the minimum number or databases that can exist within a cluster when deploying a resilient and scalable Cisco
Meeting Server deployment? 

A. 4 

B. 3 

C. 5 

D. 2 

Correct Answer: B 

 

QUESTION 4



Which two protocols are used in the H.323 standard? (Choose two.) 

A. SDP 

B. SIP 

C. H.245 

D. 802.1 

E. Q.931 

Correct Answer: CE 

 

QUESTION 5

Which two statements about the assignment of endpoints to a subzone are true? (Choose two.) 

A. A registration restriction rule must be configured that matches the endpoint\\'s alias or IP subnet. 

B. Endpoints making a traversal call must be registered to the traversal subzone. 

C. By default, all endpoints are registered to the default subzone. 

D. By default, all endpoints are registered to the neighbor subzone. 

E. A subzone membership rule must be configured that matches the endpoint\\'s alias or IP subnet. 

Correct Answer: CE 

 

QUESTION 6

Which option is a user policy? 

A. authentication 

B. admin policy 

C. call policy 

D. Find Me 

Correct Answer: B 

 

QUESTION 7

Which two statements about endpoint registration authentication are true? (Choose two.) 

A. Authentication credentials can be stored in the local database of the Expressway. 

B. SIP endpoints always need authentication credentials. 



C. The endpoint and Expressway must be configured and synchronized with an NTP server delivering an identical time
stamp. 

D. Expressways and endpoints do not need to be synchronized with identical NTP timestamps. 

E. When a subzone is set for "Treat as Authenticated", the endpoint must have the correct authentications configured. 

Correct Answer: AC 

 

QUESTION 8

An engineer wants to schedule endpoints that are registered to the Cisco UCM to conferences using TMS. Which action
is required before endpoints can be scheduled? 

A. The Cisco UCM must have a SIP trunk directed at TMS. 

B. Only endpoints registered to VCS or Expressway can be scheduled in conferences by TMS. 

C. The Cisco UCM must first be added to a folder in TMS Systems > Navigator. 

D. The MAC address of the endpoint must be entered in the System > Manage Dial Plan menu. 

Correct Answer: C 

 

QUESTION 9

In an H.323 call that is not interworked, which three signaling protocols are routed through the Expressway? (Choose
three.) 

A. RTP 

B. Q.931 

C. H.254 

D. RAS 

E. RTCP 

F. H.245 

Correct Answer: AEF 

 

QUESTION 10

Where must TURN servers be configured in a resilient and scalable Cisco Meeting Servers solution? 

A. CMS core only 

B. CMS core, CMS edge, and Cisco Unified Communications Manager 



C. CMS edge only 

D. CMS core and CMS edge 

Correct Answer: C 

 

QUESTION 11

Which two steps are needed to initially log in to the Cisco Spark Management Portal? (Choose two.) 

A. Enter your username and click Sign In. 

B. On the next page, enter the password and click Sign In again. 

C. From your web browser, navigate to http://admin.ciscospark.com 

D. From your web browser, navigate to http://cisco.com/spark . 

E. Enter the password a second time to confirm. 

Correct Answer: AC 

 

QUESTION 12

Which option is the correct format for a SIP alias? 

A. 212-555-1212 

B. +12125551212 

C. John.doe@cisco.com 

D. John.doe 

Correct Answer: C 
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